
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en 

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 
Spare Parts List of Martin RUSH Club Smoke Dual 
 

5243002 Xlr 3pin male chassis mount 

5247205 Mains soc chassis IEC 6.3 term 

5324104 Crimp Terminal AMP, 2.54 

5324104 Crimp Terminal AMP, 2.54 

5324205 Crimp Housing 4 pole, 2.5 AMP 

5324219 Crimp Housing 3 pole, 2.5 Amp 

5328408 Crimp non insulated 

5328409 Crimp blue piggy back 

5328412 Crimp insulating boot 

5348601 Crimp blue fork 

5523021 Switch illuminated mains 

5761003 Piston Pump 240V / 50Hz 

5764505 Valve,2.5mm,230V,8Bar,1/8 bsp 

5769002 Rubber Washer for piston Pump 

6150032 PSU UNI I/P 15V/51W 100-240VAC 

8050403 M3x6 ph pz black 

8050416 M3x10 ph pz black 

8052701 M3 nut lock PA shiny 

8053832 M3x10 stand off f/f brass 

8054305 M3.5 Washer flat 

8054401 M3 washer lock 3,2/6 black 

8054403 Washer m3 crinkle 

8070418 M4x10 tapt black 

8111010 Bolt m6x16mm hex 

8114404 Washer m6 flat bzp 

8152603 M10 Hex nut brass 

8190104 2.9x9.5 C. rec. Ph. Selftap bl 

8190108 Screw no6x1/4 self tapper p 

8220105 3.2x10 Pop rivet steel black 

8220120 3.2x6 Rivet Cs, alu head/steel 

8220705 Rivet earthing 

8250107 Hose clamp 9.2-10.8 plastic 

8250115 Hose clamp 11.1-12.8 plastic 

8261204 Spacer Snap-PCB / selftap , 

8261212 Mounting block,PCB,nylon 

11501012 1.5 m power cable, 3-pin IEC,/!\ 

13104001 Strap, black, 2.5x100mm 

15807005 PVC sleeving 6mm, black 

18360070 Plate for xlr-plugs,M2000, 

19040121 Hinge, 38.1 x 25.4 blk plastic 

26460500 Straight, 1/8 bsp-6mm push on 

26460870 Sealed nipple 

26561570 Plate Pump ZR12/22/33/FX-2 



26569210 PSU bracket, Ready 365 

32020504 Rubber foot 

32021004 Grommet open 20mm 

32021009 Grommet 7-10mm cable retention 

33001133 Overlay, 14 seg + fast access 

33190093 Label PE for thermoprint 60x35mm 

34300520 Container 10 ltr 

62009516 PCBA Filter 

62020160 PCB, RUSH Club pump interface, 230V, tested 

62021021 PCBA XLR5,Male/Female 

62021045 PCBA Smd&Thru Hole,Jem K1,Swit 

62021067 PCBA DMX, RUSH Club pump, 230V 

62021523 PCBA 14 seg display cw header 

62022503 PCBA relay,16A,spco 

62203730 Loom, Display K1/Ready 365 

M05123001 CON, PCB, FEMALE, XLR 3-pin. NC3FA-H-2 

M05123102 CON, PCB, FEMALE, XLR 5pin, NC5FA-H,/!\ 

M05143102 CON, MALE, XLR 5-pin, PCB, NC5MA-H, LEA,/!\ 

M26460797 Elbow 1/8BSP, male-6mm fast-on 

M34204054 Bag 3, Speedy packer 

M62021052 PCBA DigiMK2,mega168,tested 

M62021521 PCBA 14 SEGMENT DISPLAY, Tested 

M62090521 PCBA, 14 SEGMENT DISP,SMD Only 

M62090525 PCBA, Switch Inter, Jem K1, SMD 

M62090526 PCBA, DigiMK2, SMD 

M62106000 X-tal 8MHz, cut 

M62203840 Loom, RUSH Club pump 

M62520103 Fluid line assy, RUSH Club pump 
 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en 

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

 


